## CHANGE ORDER

No. 1

DATE OF ISSUANCE \_\_\_\_\_ EFFECTIVE DATE\_\_\_\_

OWNER: St. Charles Parish

CONTRACTOR: <u>Barriere Construction Co., L.L.C.,</u> Contract: <u>St. Charles Parish Road Maintenance 2013</u> Project: <u>St. Charles Parish Road Maintenance 2013</u>

OWNER's Contract No.: P111002-12

ENGINEER: G.E.C., Inc.

ENGINEER's Contract No.: <u>51206105.012</u>

You are directed to make the following changes in the Contract Documents: **Description:** 

# a. Delete the Following Work Items:

a. Contract Item No. 7: Base Bid: Adjustment of Drainage Structures

| DESCRIPTION: Adjustin | rentrof Divilnage Simuotures |                |           | X Base Bid or 🗆 Alt.#  |
|-----------------------|------------------------------|----------------|-----------|--|
| RUE NO                | QUVANTITIYY:                 | UNITOF WEASURE | UNDERRICE | UNITERICE EXTENSION (Quantity)   |
|                       |                              |                |           | The state of the s |
| 7                     | 11                           | Each           | \$50.00   | \$550.00   |

# A difference of ( - \$550.00)

b. Contract Item No. 9: Base Bid: Relocation of Infrastructure Items

| DESCRIPTION: Relocati | on of Universime (ure) (ems. 🔻 🔻 |                 |             | X Base Bid or □ Alt.#           |
|-----------------------|----------------------------------|-----------------|-------------|---------------------------------|
| REFINOL               | OUANTHTY:                        | UNIT OF MEASURE | UNTITURICE  | UNITERRIGE EXTENSION (Quantity) |
| 9-                    | 1                                | Lump Sum        | \$20,000.00 | \$20,000.00                     |

## A difference of (-\$20,000.00)

c. Contract Item No. 11: Base Bid: Shoulder Material (Stone Fill)

| DESCRIPTIONS Shoulds | n Materal (Stone Hill) |                |           | X Base Bid or □ Alt.#                         |
|----------------------|------------------------|----------------|-----------|---|
| Laree, NO =          | QUANTITY               | UNITOF MEASURE | UNITERICE | UNITERICE EXTENSION (Oraniity iimes Uniterio) |
| 11                   | 11,018                 | Linear Foot    | \$3.00    | \$33,054.00                                   |

## A difference of (-\$33,054.00)

## Total of Deleted Base Items = (-\$53,604.00)

a. Contract Item No. 7: Alternate Bid 1: Adjustment of Drainage Structures

| ides@Riphoon Adjustin | ent of Distinge Structures |                |             | ☐ Base Bid or X Alt.#_1_                            |
|-----------------------|----------------------------|----------------|-------------|---|
| REFINO                | QUANTITY                   | UNITOF MEASURE | UNIT PRICE: | UNITERICE EXTENSION (Quantity = times (Vint. Peres) |
| 7                     | 10                         | Each           | \$50.00     | \$500.00  |

## A difference of (-\$500.00)

## b. Contract Item No. 11: Alternate Bid 1: Shoulder Material (Stone Fill)

| DESCRIPTION: Shound | riMaterial (Stone Fill) |               |             | ☐ Base Bid or X Alt.# _1_      |
|---------------------|-------------------------|---------------|-------------|--------------------------------|
| RIEF, NO.           | OWANTIFTY:              | UNITO MEASURE | CONTRIPRICE | UNIT PRICE EXTENSION (Quantity |
|                     |                         |               |             | www.commences.com              |
| 11                  | 10,447                  | Linear Foot   | \$3.00      | \$31,341.00                    |

## A difference of (-\$31,341.00)

## Total of Deleted Alternate 1 Items = (-\$31,841.00)

# Total of Deleted Items = (-\$85,445.00)

# b. Add the Following Work Items:

a. Contract Item No. 15: Base Bid: Railroad Striping

| DESCRIPTIONS Railroad | l Striping |                |            | X Base Bid or □ Alt,#           |
|-----------------------|------------|----------------|------------|---------------------------------|
| REF NO.               | QUANTURY   | UNITOF MEASURE | UMIT PRICE | UNITERRICE EXTENSION (Quantity) |
| 15                    | 1          | Each           | \$3,575.00 | \$3,575.00                      |

## A difference of (+\$3,575.00)

#### Total of Added Base Items = (+\$3,575.00)

# Total of Added Items = (+\$3,575.00)

## c. Revise the Following Work Item Quantities:

a. Contract Item No. 2: Base Bid: 2 - Inch Depth Cold Plane Current:

| ~~                    | VV.             |                  |            |                                 |
|-----------------------|-----------------|------------------|------------|---------------------------------|
| DESCRIPTION: 2 - Inoh | Depth ColdPlane |                  |            | X Base Bid or □ Alt.#           |
| REF NO.               | QUANTIFIEY      | FUNDT OF MEASURE | UNITERRICE | UNIT PRICE EXTENSION (Quantity) |
| 2                     | 47,744          | Square Yard      | \$1.00     | \$47,744.00                     |

Change to:

| DESCRIPTION: 2-Trich | Depth Cold Plane |               |            | X Base Bid or □ Alt.#          |
|----------------------|------------------|---------------|------------|--------------------------------|
| REER NO              | OU/ANTHITY.      | UNITOFMEASURE | UNITERRICE | UNIT PRICE EXTENSION (Quantity |
| 2                    | 44,920           | Square Yard   | \$1.00     | \$44,920.00                    |

# A difference of (-\$2,824.00)

b. Contract Item No. 3: Base Bid: 2-Inch Depth Asphaltic Wearing Course Current:

| DESCRIPTION: 24 from 18 | )epth Asphaltic Weating Cours |                 |            | X Base Bid or □ Alt.#         |
|-------------------------|-------------------------------|-----------------|------------|-------------------------------|
| REF NO:                 | QUANTITY                      | UNIT OF MEASURE | UNIT PRICE | UNITERICE EXPENSION (Quantity |
| 3                       | 5,252                         | Ton             | \$80.00    | \$420,160.00                  |

| DESCRIPTION: 24hohit | Depth Asphaltic Wearing Course |                 |              | X Base Bid or 🛘 Alt.#                              |
|----------------------|--------------------------------|-----------------|--------------|--|
| REF NO.              | QUANTITY                       | UNIT OF MEASURE | UNIT PRICE 1 | UNITERRIGE EXTENSION (Quantity films, Unit Prince) |
| 3                    | 4,844.00                       | Ton             | \$80.00      | \$387,520.00                                       |

c. Contract Item No. 4: Base Bid: 6 - Inch Depth Asphalt Patching

| $\sim$ |      |      |
|--------|------|------|
| ( '1   | rrer | ٠t٠  |
|        | 110  | 1 L. |

| IDESCRIPTION: 6- Inch | Dapth Asphalt Patching |                |            | X Base Bid or □ Alt.#         |
|-----------------------|------------------------|----------------|------------|-------------------------------|
| REE NO                | QUANTITY               | UNITOF MEASURE | UNIT PRICE | UNITERICE EXTENSION (Cuantity |
| 4                     | 596                    | Ton            | \$125.00   | \$74,500.00                   |

Change to:

| DESCRIPTION 6 Inch | Depth Asphalt Pateling |                  |            | X Base Bid or 🗆 Alt.#          |
|--------------------|------------------------|------------------|------------|--------------------------------|
| REFENO.            | OUGANTHIEY             | UNITI OF MEASURE | DINHEPRICE | UNITERRIGE EXTENSION (Quantity |
|                    |                        |                  |            | times (Intt/Phiee)             |
| 4                  | 423                    | Ton              | \$125.00   | \$52,875.00                    |

# A difference of ( - \$21,625.00)

d. Contract Item No. 5: Base Bid: Reflectorized Raised Pavement Markers Current:

| DESCRIPTION: Reflects | nized Raised Pavement Markes |                  |               | X Base Bid or □ Alt.#       |
|-----------------------|------------------------------|------------------|---------------|-----------------------------|
| REFINO                | OUANIEHY).                   | UNTER OF MEASURE | UNIT PRICE: T | UNITED EXTENSION (Quantity) |
| 5                     | 44                           | Each             | \$6.00        | \$264.00                    |

Change to:

| DESCRIPTION Reflecto | nized Raised Pavenenti Markers |               |            | X Base Bid or 🗆 Alt.#           |
|----------------------|--------------------------------|---------------|------------|---------------------------------|
| REF.NO               | OUANTERY:                      | UNITOFMEASURE | UNIT PRICE | UNIT PRICE EXTENSION (Quantily) |
| 5                    | 42                             | Each          | \$6.00     | \$252.00                        |

# A difference of ( - \$12.00)

e. Contract Item No. 6: Base Bid: Adjustment of Manholes Current:

| TDESCRIPTION: Adjustin | ent of Manholes |                  |            | X Base Bid or □ Alt.#          |
|------------------------|-----------------|------------------|------------|--------------------------------|
| REF NO.                | OUANITHY        | UNIT OF MEASURE: | UNIT PRICE | UNIT PRICE EXTENSION (Quantity |
| 6                      | 11              | Each             | \$100.00   | \$1,100.00                     |

Change to:

| DESCRIPTION Adjustin | ent of Manholes |                | 24 - 25 - 25 | X Base Bid or 🛘 Alt.#           |
|----------------------|-----------------|----------------|--------------|---------------------------------|
| REF NO.              | QUANTINTY       | UNITOF MEASURE | UNIT PRICE   | UNIT PRICE EXTENSION (Quantity: |
| 6                    | 10              | Each           | \$100.00     | \$1,000.00                      |

# A difference of (-\$100.00)

f. Contract Item No. 8: Base Bid: Adjustment of Water Valves Current:

| DESCRIPTION: Adjustin | em of Water Valves                    |  |            | X Base Bid or □ Alt.#  |
|-----------------------|---------------------------------------|--|------------|--|
| REF NO.               | · · · · · · · · · · · · · · · · · · · | UNIT OF MEASURE                                    | UNIO PRICE | UNIT PRICE EXTENSION (Quantity   |
|                       |                                       | を表現しています。 日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日 |            | The state of the control of the state of the |
| 8                     | 11                                    | Each   | \$35.00    | \$385.00   |

| Clim                 | -60 101             |                 |           |                                |
|----------------------|---------------------|-----------------|-----------|--------------------------------|
| DESCRIPTION Adjustin | entrof Water Valves |                 |           | X Base Bid or □ Alt.#          |
| REE NO               | QUANTIETY:          | UNITEOT MEASURE | UNUTPRICE | UNITERACE EXTENSION (Quantity) |
| 8                    | 7                   | Each            | \$35.00   | \$245.00                       |

# g. Contract Item No. 10: Base Bid: Shoulder Material (Earthen Fill) Current:

| DESCRIPTION: Shoulde | e Majerial/(Expliner Bill) |                    |             | X Base Bid or 🗆 Alt.#         |
|----------------------|----------------------------|--------------------|-------------|-------------------------------|
| REF NO               | QUANTIFITY                 | UNITE OF MEASSURES | UNITE PRICE | UNITERRICE EXTENSION (Oranthy |
| 10                   | 11,018                     | Linear Foot        | \$1.25      | \$13,772.50                   |

Change to:

| DESCRIPTION: Shoulde | r/Material (Earther Fill) |                   |           | X Base Bid or Alt.#            |
|----------------------|---------------------------|-------------------|-----------|--------------------------------|
| REF NO               | (O),DJANNETEEY            | UNITE OF ME/ASURE | UNITERICE | UNITERRICE EXTENSION (Quantity |
|                      |                           |                   |           | times Unit (Phice)             |
| 10                   | 26,960                    | Linear Foot       | \$1.25    | \$33,700.00                    |

# A difference of (+\$19,927.50)

h. Contract Item No. 12: Base Bid: Shoulder Material (Reclaimed Asphalt Pavement)

Current:

| Our                  | OII.                           |                  |  |                                |
|----------------------|--------------------------------|------------------|--|--------------------------------|
| DESCRIPTION: Shoulds | r Material (Reolaimed Asphalt) | Payement)        |  | X Base Bid or 🗆 Alt.#          |
| RHE NO               | QUANTIUTY                      | UNIT OF MEASURE. | UNITERRICE   | UNDI PRICE EXTENSION (Organity |
| <b>经验证的</b>          | <b>经验的证据的证据的证据的证据的证据的证据的</b>   |                  | AND THE PERSON OF THE PERSON O |                                |
| 12                   | 11,018                         | Linear Foot      | \$1.50   | \$16,527.00                    |

Change to:

| DESCRIPTION: Shoulde | r Material (Reclaimed Asphalt) | Pavement)       |              | X Base Bid or 🗆 Alt.#           |
|----------------------|--------------------------------|-----------------|--------------|---------------------------------|
| REF NO               | OTHANNETHEY                    | UNITYOF MEASURE | UINITE PROCE | UNITERRICE EXTENSION (Quantity) |
|                      |                                |                 |              | ilimes Unit Phice)              |
| 12                   | 2,342                          | Linear Foot     | \$1.50       | \$3,513.00                      |

# A difference of (-\$13,014.00)

## Total of Change in Base Items = (-\$50,427.50)

a. Contract Item No. 2: Alternate Bid 1: 2 - Inch Depth Cold Plane Current:

| DESCRIPTIONS 2 lineh | Depth Cold Plane |                 |            | ☐ Base Bid or X Alt.# 1          |
|----------------------|------------------|-----------------|------------|----------------------------------|
| . REF NO .           | QUANTITY:        | UNIT OF MEASURE | UNIT PRICE | UNIT PRICE EXITENSION (Quantity) |
| 2                    | 42,935           | Square Yard     | \$1.00     | \$42,935.00                      |

Change to:

| DESCRIPTION 2-Inch | Depth Cold Plane |                  |            | ☐ Base Bid or X Alt.#_1_        |
|--------------------|------------------|------------------|------------|---------------------------------|
| REF NO -           | QUANTITY         | CUNITION MEASURE | UNITTERICE | UNUT PRICE EXTENSION (Quantity) |
| 2                  | 43,104           | Square Yard      | \$1.00     | \$43,104.00                     |

# A difference of (+\$169.00)

b. Contract Item No. 3: Alternate Bid 1: 2 - Inch Depth Asphaltic Wearing Course

Current:

| DESCRIPTION: 24heh/I | Depth Asphaltic Wearing Course |                   |            | ☐ Base Bid or X Alt.# _1_  |
|----------------------|--------------------------------|-------------------|------------|--|
| REETNO               | QUANTIBLY                      | TUNIT OF MEASURE. | UNIT PRICE | UNITERICLE EXTENSION (Quantity   |
|                      |                                |                   |            | Section of the sectio |
| 3                    | 4,723                          | Ton               | \$80.00    | \$377,840.00   |

| DESCRIPTIONS, 2-Inchie | Depth Asphaltic Wearing Course |                  |          | ☐ Base Bid or X Alt.# 1        |
|------------------------|--------------------------------|------------------|----------|--------------------------------|
| RATIO IN(O)            | (OJUANTEURY)                   | IUNIT OF MEASURE | UNITERIO | UNITERRIGE EXTENSION (Quantity |
|                        |                                |                  |          | times Unit Price)              |
| 3                      | 5,118                          | Ton              | \$80.00  | \$409,440.00                   |

c. Contract Item No. 4: Alternate Bid 1: 6 - Inch Depth Asphalt Patching

| DESCRIPTION, 6. Inch. | Depth Asphalt Patching |                    |           | ☐ Base Bid or X Alt.# _1_      |
|-----------------------|------------------------|--------------------|-----------|--------------------------------|
| IRIDE NO.             | QU/ANTIHEY)            | JUNITE OF MEASURE, | UNTERRIGE | UNHI PRICE EXTENSION (Quantity |
| 4                     | 898                    | Ton                | \$125.00  | \$112,250.00                   |

Change to:

| DESCRIPTION: 6 - Inch | Depth Asphalt Patching |                  |            | ☐ Base Bid or X Alt.#_1_      |
|-----------------------|------------------------|------------------|------------|-------------------------------|
| REE NO.               | (QTU/ANTEHYY)          | UNITE OF MEASURE | UNIT PRICE | BINITE PRECEDENTIAL (Quantity |
| 4                     | 997                    | Ton              | \$125.00   | \$124,625.00                  |

# A difference of ( + \$12,375.00 )

d. Contract-Item No. 5: Alternate Bid 1: Reflectorized Raised Pavement Markers

| DESCRIPTION Reflects | nized Raised Payement Markers |                |            | ☐ Base Bid or X Alt.#_1_        |
|----------------------|-------------------------------|----------------|------------|---------------------------------|
| REF. NO              | QUANTITY:                     | UNITOF MEASURE | UNIT PRICE | UNIT PRICE EXTENSION (Quantity) |
| 5                    | 42                            | Each           | \$6.00     | \$252.00                        |

Change to:

| DESCRIPTION: Reflecto | nized Raised Pavement Marker |                 |            | ☐ Base Bid or X Alt.# 1.       |
|-----------------------|------------------------------|-----------------|------------|--------------------------------|
| REF NO.               | QUANTITY:                    | UNIT OF MEASURE | UNITERRICE | UNIT PRICE EXTENSION (Quantity |
| 5                     | 38                           | Each            | \$6.00     | \$228.00                       |

# A difference of (-\$24.00)

e. Contract Item No. 6: Alternate Bid 1: Adjustment of Manholes Current:

| DESCRIPTION: Adjustmen | nicof/Manholes |                  |             | ☐ Base Bid or X Alt.#_1_         |
|------------------------|----------------|------------------|-------------|----------------------------------|
| REF NO                 | OUANTHUY.      | UNITE OF MEASURE | UNITE PRICE | UNIT PRICE EXTENSION (Quantity : |
| 6                      | 10             | Each             | \$100.00    | \$1.000.00                       |

Change to:

| DESCRIPTION Adjustin   | ent of Manholes ( ) = 440 ° 1861 |                 |  | ☐ Base Bid or X Alt.# _1_  |
|--|----------------------------------|-----------------|--|--|
| REFINO.  | QUANTUTY:                        | UNITOPIME/ASURE | : UNIT PRICE   | UNITE PRICE EXTENSION (Quantity  |
| As a section of a section of the sec |                                  |                 | THE RESERVE OF THE PARTY OF THE | The same of the contraction of t |
| 6  | 6                                | Each            | \$100.00   | \$600.00   |

# A difference of ( - \$400.00 )

f. Contract Item No. 8: Alternate Bid 1: Adjustment of Water Valves Current:

| DESCRIPTION: Adjustin | ent of Water Valves |                 |            | ☐ Base Bid or X Alt.#_1_      |
|-----------------------|---------------------|-----------------|------------|-------------------------------|
| REF NO                | OUANIETTY           | UNIT OF MEASURE | UNITERRICE | UNITERRICE EXTENSION (Oranni) |
|                       |                     |                 |            | Times Unit Fince)             |
| 8                     | 10                  | Each            | \$35.00    | \$350.00                      |

| ADESCRIPTION: Adjustin | ençof Water Valves |                 |            | ☐ Base Bid or X Alt.# _1_   |
|------------------------|--------------------|-----------------|------------|---|
| + REE NO               | QUANTINITY         | UNHI OF MEASURE | UNIT PRICE | UNIT PRICE EXTENSION (Quantity  |
| <b>新发现的关系的</b>         |                    |                 |            | But design to the state of the |
| . 8                    | 4                  | Each            | \$35.00    | \$140.00  |

## Contract Item No. 9: Alternate Bid 1: Shoulder Material (Earthen Fill) Current:

| DESCRIPTION: Shortet | e Maredar (Earthea Fill) |                 |             | ☐ Base Bid or X Alt.# _1_      |
|----------------------|--------------------------|-----------------|-------------|--------------------------------|
| REE NO.              | QUANTITIY                | UNIT OF MEASURE | UNITE PRICE | UNITERICE EXPENSION (Quantity) |
| 9                    | 10,447                   | Linear Foot     | \$1.25      | \$13,058.75                    |

Change to:

| DESCRIPTION: Shoulde | s Material (Earthen Fill) |                 |            | ☐ Base Bid or X Alt.# 1        |
|----------------------|---------------------------|-----------------|------------|--------------------------------|
| REF-NO               | OUANTHTY                  | UNIO OF MEASURE | UNIT PRICE | UNITERRICE EXTENSION (Quantity |
|                      |                           |                 |            | (times Unit Prites)            |
| 9                    | 21,854                    | Linear Foot     | \$1.25     | \$27,317.50                    |

# A difference of (+\$14,258.75)

h. Contract Item No. 11: Alternate Bid 1: Shoulder Material (Reclaimed Asphalt Pavement)

| DESCRIPTION: Shoulde | idMaterial (Reclaimed Asplialit) | Pavengn)        |           | ☐ Base Bid or X Alt.#_1_                          |
|----------------------|----------------------------------|-----------------|-----------|---|
| Z REE NO             | QUANTITY:                        | UNIT OF MEASURE | UNITERICE | UNIT PRICE EXTENSION (Quantity inters Unit Pater) |
| 11                   | 19,856                           | Linear Foot     | \$1.50    | \$29,784.00                                       |

| Char                 | nge to:                         |                |            |                                  |
|----------------------|---------------------------------|----------------|------------|----------------------------------|
| DESCRIPTION: Shoulde | r Materiai (Reclaimed Asphalt I | Pavement)      |            | ☐ Base Bid or X Alt.# 1          |
| REF NO.              | OUANTITY                        | UNHFOR MEASURE | UNIT PRICE | UNITERRIGE EXTENSION (Quantity : |
|                      |                                 |                |            | times Uniti Price)               |
| 11                   | 11,586                          | Linear Foot    | \$1.50     | \$17,379.00                      |

## A difference of (-\$12,405.00)

Total of Change in Alternate Bid 1 Items = (+\$45,363.75)

Total of Change in Revised Items = (-\$5,063.75)

Total of Change in Deleted, Added, and Revised Items = (-\$86,933.75)

## Reason for Change Order:

- 1. Deleted Work Items
  - a-c: Items were not required.
  - a-b: Items were not required.
- 2. Add Work Items
  - a: Additional Railroad Striping was required.
- 3. Revised Work Item Quantities
  - a-h: Quantities were revised to match actual work performed in the field.
  - a-h: Quantities were revised to match actual work performed in the field.

## Adjustment in Contract Time:

No adjustment in Contract time was required.

| CHANGE IN CONTRACT PRICE:   | CHANGE IN CONTRACT TIMES:  |  |  |  |
|---|--|--|--|--|
| Original Contract Price \$1,442,367.25  | Original Contract Times: Substantial Completion: 80 Days Ready for final payment: December 19, 2013 (days or dates)                          |  |  |  |
| Net Increase (Decrease) from previous Change Orders Noto:  \$_N/A   | Net change from previous Change Orders No to No: Substantial Completion:0 Days Ready for final payment: December 19, 2013 (days)             |  |  |  |
| Contract Price prior to this Change Order: \$1,442,367.25   | Contract Times prior to this Change Order: Substantial Completion: 80 Days Ready for final payment: December 19, 2013 (days or dates)        |  |  |  |
| Net increase (decrease) of this Change Order:  - \$86,933.75  | Net increase (decrease) this Change Order: Substantial Completion: 0 Days Ready for final payment: December 19, 2013 (days)                  |  |  |  |
| Contract Price with all approved Change Orders: \$1,355,433.50  | Contract Times with all approved Change Orders:  Substantial Completion:80 Days  Ready for final payment: December 19, 2013  (days or dates) |  |  |  |
| RECOMMENDED:  By: Accepted:  Date: 2/0/70/11  Date: 2/0/70/11 |  |  |  |  |

EJCDC 1910-8-B (1996 Edition)
Prepared by the Engineers Joint Contract Documents Committee and endorsed by The Associated General Contractors of America and the Construction Specifications Institute.